olJ

olJ
o8

olig
Nfo

op

b2

@ p+b

:a4

D ab+a?

:x2

® x>+

@ a®+a®=ad"



®

X14y16



6x-3y x+4y 4x-5y
2 3 6

3.

@ 2x+2y @ 2x-2y @ x+y

@ x+2y ® 2x+y



theZ o]x}2lo] ofd AL BE 729

@ 4-dx - 4x2
® 2(x?-x)

® 2(1 - 2x2) - (x - 4x?)



@O 3x2
x2 4+ 3xy + 2

@ 9x?
x? + 6xy + y?

@ 347
x2 4 6xy + 2

® 9x?
x% + 9xy + y?

® 9x?
x2 4 3xy + 2






x=2y-3

D

a3

.

ul

2



—b..-

3x—-y

Ao, a+b 92k

°9

®0 @ 4

@ 2



sholat,

=X

o 4

1

0

0
o

™

HlFZ

ojn

0
I
0
<f |
I =
P
| |
N
4+
— |
A~
N T
| |
=R
~— ~—
N ™
———






= Z°l=h

1
3

y
x+2

0.2x-0.5y=14

£

]
Al

YP4

B

11.

i

a3

_.

ul

2



@ 24
® a®
@ 248
® 348

® o






14. 3%+ 3* 4 3*2 7S] YeRH?

@ 3x+1 @ 33x @ 27X @ 3x+2 @ 3x+3



£0)
(T, x
ofet,

T

ol
0

J
X
o

—_—

kol
15. [ ]




@ 12a%bc
4b
3a2c

bc 3b
12a2 ® 4a2
126



17. 163+ 4" =872 A off, n o] gt Fotofet.






19. 2x— [7x— {6x—2y— (-3x+2y) —4x}| -4y & I

@ -8y @ 4x-8y ® 0

@ -10x - 8y ® 4x



20. -2x(x*+3x-D)=a*+bx* +cx¥8 W, a+b+co 42?7 (T, a,

b,cE )

@® -6 @ -3 ® -1 @ 0 ®1



S

O AF+Ea
. a+b-c

3

27
al



22, o= AMA Tl A o2 A2?

—x—y)? =%+ 2xy +)?

2x +y)(y — 2x) = —4x% + 2

2x + 3y)(=5x + 4y) = —10x% + Txy + 12y?

© ® © © ©

(
(
(x=3)(x+5) =x2+2x - 15
(
(

3x—2)(x—y)=3x% - 3xy—2x+2y



23.

—(3x%y — 9xy?) +

D
=%



24. e 3L 712 o] Aol7t 342k , =0]7} dab 91 AL A o]}, o]
AA =G o] R} 942p° L wfj A2 2] Zol=?

_--3a’b-_




25. ZAS x, yoll tiste] AHHAA x4y =6, 3x—y = 2 9] Sl= A%
(p, q) oIth. ol 2p + ¢* ] 727

@® 15 @ 16 ® 18 @ 20 ® 21



